
Quiz 2 – February 2020 
 

1. The 2-Bay rule is- you must be at least 4 pallets or 16’ away from a working 
lift into a slot? T/F  

 
 HMA only – how far back must you stay from a lift working a lift? 

 
2. When a pedestrian is walking and powered equipment is moving who has 

the right of way at an intersection? 

 

3. What is the main reason for LOTO? 
 
 

4. What direction must you face when traveling on powered equipment? 

 

 

 

 

 

 

 

 

 

 

 

 



Quiz 2 Answers – February 2020 
 

1. T   (HMA-40’) 
2. The Pedestrian always has the right of way- no exceptions. 
3. Controlling your energy 
4. Direction of Travel-Product must be secured prior 

 


